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All the maths teachers at Holy Family are very much looking forward to
meeting you, normally during transition days you find out about us, we
find out about you and together we do some maths. Unfortunately, this
could not happen this year! Hopefully, by completing this booklet you will
be able to do some research into some of our favourite mathematicians
and do some maths! Towards the back of this booklet you'll find some
knowledge organisers with keywords and maths facts which you'll find
useful to remember. Keep up practicing your times tables and try to learn
your square and cube numbers if you can. We hope you all have a lovely
Summer and we look forward to welcoming you all to Holy Family school in
September. See you soon!



Try this with
your family —
who is the
quickest?

The 24 game...

One of our favourite things to do on transition is to play the 24 game. The
aim of the game is to be the first person to make the number 24.

For each game you have 4 numbers, you have to use ALL four numbers, you
can add, subtract, multiply or divide these to make 24.

Example:
2268
To make 24, cando (8 -2) x (6 —2)
8-2=6
6-2=4
One Dot - Easiest 6x4=24

Now it’s your turn, the 24 cards are below they get harder as you go
through.




The 24 game...

TWO DOT - MEDIUM

THREE DOT - HARDER

3 3
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4 8




Key Skills...

When you get to a page like this, spend 10 minutes completing
the skills check questions based on topics from Y6.

Question 1 Question 2 Question 3 Question 4
Write in figures : thirteen thousand, Write in figures : seventy seven List the factors of 51 List the factors of 36
five hundred and two units thousand, eight tens and three units
Question 5 Question 6 Question 7 Question 8

- = 8 12
Workout 7x 10 = Work out 10 x 10 = Simplify — Simplify —

16 42

Question 9 Question 10 Question 11 Question 12

Find 50% of £180

Find 25% of £120

Round 2084 to the nearest 100

Round 3372 to the nearest 10

Question 13
Work out 86 x 8 =

Question 14
Work out 630 %9 =

Question 15
Simplify 5¢c+ 5c¢ + 6¢

Question 16
Simplify 10a+2b+8a+7b

Question 17
Work out 39253 + 15736 =

Question 18
Work out 30730 + 18364 =

Question 19
Work out 8x2-5

Question 20
Work out 6+11x3

www.mathsbox.org.uk

Score

SKILLS CREECK

A favourite Mathematician of ours is Fibonacci who was
an Italian man who studied math and theories back in
the 11th century. He discovered a pattern called the
Fibonacci sequence. It's a series of numbers that starts
with 0 and 1, and each number after is found by adding
the two previous numbers (0, 1,1, 2, 3, 5...)The
sequence just keeps going on and on.

Can you find the first 10 numbers in the sequence?




Maths Keywords...

In maths lesson you will be asked to write the maths keywords down
in your book, we have a special section in books for you to do this.
Can you find all these keywords?

HOOHUODWHWHNCCHENQHOEDKOQWHEK

FCcH << NEHZXR2O0HA<SEPFOXUYUROHX

HOo<=Z2gO0HZ20XWPpOPHIIDYWOK
H<NDNUOUOHEXHANRONORA3INGQ XD
HAE OQOQZ2O0O0pP QR0 ODHORUYWAWHM

FFTZP
UDMEE
KCDBR
UGZIT
LNMGM
Y KO PE
IAQDT
VALUE
UKINR
SLDLFP
A IPCN
NVYEC
TVRCTF
UALGN
UKLWO
PTCAR
ITGBP
POLYG
KTBNO
KDWEF
ADD
ASCENDING
DECIMAL
DESCENDING
ESTIMATE
HUNDREDS
PERIMETER

K<ORHOhTOoOXCCcnLOOPHNCE =

PNZAaOmAPZ20000R0Hd0NnOoR2HaR

DQUMZILNU
DONDTIMXE
IHIBYVWJ
DLTVFSTFS
AWSYVDRDOQ
QOWREZPETWK
EESMHRTUT
BTDZDDMJ
DDATMNI KN
MMNMOUGM
EXZPIHJIM
ONARJTON
B HDOHZS X
BWVIDTIDE
IRQNNPNE
USORKGBF
LRWUDUJRYV
QI XRNROL
UDUVADIKDO
CLJTJNRYL
PLACEVALUE

POLYGON

ROUND

SQUARENUMBER
SUBTRACT

TENS

UNITS
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Another favourite mathematician - Leonhard Euler (pronounced Oiler) (April 15,
1707 — September 7, 1783) was a Swiss mathematician and physicist. He spent
most of his life in Russia and Germany. Euler made important discoveries in fields
like calculus and topology. He also made many of the words used in maths today.
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Favourite Number

Mr. Smith has shared some clues about his favourite number, can you

work out what it is?

Find the number
between 1 and 99

It is more than 5 squared

.....AIM.....m i T e .........m...uo; %1|||||||||||||||||||| AR
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It is less than 55 HEH It is not a square number ;:
o :
T - _%ﬂ'.'L B T'.'ﬂ%ﬂ'_é

1 2 23 4 5 6 ! 8 9 |10
M |{12 {13 (14 |15 |16 |17 | 18 | 19 | 20
21 |22 |23 |24 (25 | 26 | 27 | 28 | 29 | 30
31 132 |33 |34 (35|36 |37 |38 |39 |40
41 | 42 | 43 | 44 | 45 | 46 | 47 | 48 | 49 | 50
21 |52 | 53 | 54 | 55 | 56 | 57 | 58 | 59 | 60
61 |62 | 63 |64 |65 | 66 |67 | 68 | 69 | 70
1|72 |73 |74 |75 |76 |77 |78 |79 |80
81 182 83 |84 |85 |86 |87 |8 |89 90
91192 93|94 |95 |96 |97 |98 |99 100

the nurbe i+ 2 | medsanse

One of the digitsisa 2
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Key Skills...

When you get to a page like this, spend 10 minutes completing
the skills check questions based on topics from Y6.

Name:

Question 1

Write in figures : six thousand, four
tens and six units

Question 2

Write in figures : One hundred and
twenty six thousand, nine tens and
three units

Question 3
List the factors of 30

61.2

Question 4
List the factors of 20

Question 5 Question 6 Question 7 Question 8
- = 20 18
Work out 306 x 1000 = Work out 34 x 1000 = simplify =— Simplify —
70 63
Question 9 Question 10 Question 11 Question 12

Find 75% of £720

Find 75% of £500

Round 6199 to the nearest 100

Round 2096 to the nearest 1000

Question 13
Work out 77 x9 =

Question 14
Work out 397 x6 =

Question 15
Simplify 9x +4x - 3x

Question 16
Simplify 10a+3b+7a+6b

Question 17
Work out 37959 + 32050 =

Question 18
Work out 24509 + 19451 =

Question 19
Workout 5x2 +2

Question 20
Workout 5x4+3

SKILLS CREGCE

Score

www.mathsbox.org.uk

Pythagoras of Samos was a famous Greek
mathematician and philosopher (c. 570 — c. 495 BC).
He is known best for the proof of the

important Pythagorean theorem, which is about right
angled triangles. He started a group of
mathematicians, called the Pythagoreans, who
worshiped numbers and lived like monks.

Can you find out what the Pythagorean theorem is?
You will use it in Year 9.



https://kids.kiddle.co/Pythagorean_theorem

The calculator
transformation..

Blaise Pascal, in his short 39 years of life, made many contributions
and inventions in several fields. He is well known in both the
mathematics and physics fields. In mathematics, he is known

for contributing Pascal's triangle and probability theory. He also
invented an early digital calculator and a roulette machine.

Pascal’s
calculator

Similar to the
calculators we

The modern calculator can now be found use in school

everywhere, both mini and large versions

and is embedded into devices such as
laptops and mobile phones. How many
devices that have calculators can you find
in your house?



Code Breaking...

Alan Turing

Alan Turing was a British mathematician. He made
major contributions to the fields of mathematics,
computer science, and artificial intelligence. He
worked for the British government during World War
Il, when he succeeded in breaking the secret code
Germany used to communicate.

In September 1939 Great Britain went to war against Germany. During the war, Turing worked
at the Government Code and Cypher School at Bletchley Park. Turing and others designed a
code-breaking machine known as the Bombe. They used the Bombe to learn German military
secrets. By early 1942 the code breakers at Bletchley Park were decoding about 39,000

messages a month. At the end of the war, Turing was made an Officer of the Most Excellent
Order of the British Empire.

Can you crack the code to reveal the 3 names?

A B/ C DIE|F|G|H|I |J|K|L|M

55| 47| 84| 10| 9 | 75| 59| 64| 32| 15| 23| 50| 26

NIO|lP|Q|lR|S|T|UIVIW| X|Y|Z

80| 63| 19| 3 | 27| 30| 21| 92| 18| 35| 99| 69| 199
12x 7=

72 -8 = 9x3= 8x8=

14 +12 = 220 - 4= 39+16 =

54 -45= 18 +17 = 54 - 2 =

9x3= 15x 5= 19+ 8 =

69 -3 = 80-17 = 26+ 6=
243 -9 = 13+17 =
52-15=

Can you make up some calculations to spell out your name using the same code
breaker grid?

Can you make up your own message for a friend to decode?



Maths Challenges...

Can you solve all the Maths challenges?
They get more difficult as you get them..

Stickers come in packs of 5.

Max buys 12 packs.

He gave his three friends some stickers.
They each receive the same number.
He has 27 stickers left.

How many stickers did Max give each of his friends?

Here are 3 containers.

* The jug can hold 1500 ml.
+ The bucket can hold 2 litres.
* The barrel can hold 15 litres.

Anisa wants to fill the barrel with water.

Find 2 ways that Anisa can fill the barrel using the jug and bucket.

Here is a 3 x 3 grid with some shapes in.

108

102

Q5

900

Each shape represents a number.
The sum of each row is shown at the right of the table.

Find the value of each of the shapes.




Key Skills...

When you get to a page like this, spend 10 minutes completing
the skills check questions based on topics from Y6.

Name: 61.5
Question 1 Question 2 Question 3 Question 4
Write in figures : nineteen thousand, | Write in figures : six thousand, eight List the factors of 99 List the factors of 28
eight hundred and three units tens and eight units
Question 5 Question 6 Question 7 Question 8

- - 6 6
Work out 96 x 10 = Work out 31 x 100 = simplify — Simplify —

33 42

Question 9 Question 10 Question 11 Question 12

Find 50% of £880

Find 50% of £360

Round 3291 to the nearest 10

Round 1928 to the nearest 100

Question 13
Work out 86 x 6 =

Question 14
Work out 171 x 2 =

Question 15
Simplify 7y -4y -5y

Question 16
Simplify 8a +4b +5a +3b

Question 17
Work out 12389 +9125 =

Question 18
Work out 29494 + 3633 =

Question 19
Workout34-3x4

Question 20
Workout 21-5x 2

SKILLS CR=CK

Score

www.mathsbox.org.uk

René Descartes

Descartes is considered the

father of modern philosophy, a key figure in
the scientific revolution of the 17th Century,
and a pioneer of modern mathematics.
Many people also call him the

father of analytic geometry, which connects
the fields of algebra and geometry.




Maths Challenges...

Can you solve all the Maths challenges?
They get more difficult as you get them..

Connor has five times as much money as Jayden.
Connor gives some money to Jayden.
They now have £8.52 each.

How much did Connor have at the start?

80 people take part in a race.

* The ratio of children to adults in the race is 2:3.
* The mean time for the adults is 2 minutes 15 seconds.

» The mean time for all 80 people is 3 minutes.

Find the mean time for the children.

Here are two triangles identical in size.

10 cm

The two triangles are overlapped.

3ch

What is the area of the blue triangle showing?




Cross Number...

Use the questions below to complete the cross number.

23.
24.
25.
217.
29.
33.
34.
35.

37.
38.
39.

Across
The number of spots on a standard
dice 2)
The largest two-digit multiple of 13 (2)
One more than 8 Across 2)
One quarter of the square of 6 Down (3)
2X2X2X2X2 2)
A cube number 3)
15 Across + 3 Down + 6 Down +
21 Down + 36 Down 4)
39 Across — 33 Down 2)
. Twice (1 Across + 1 Down) 2)
. 1 DownN X 38 Across 3)
. 36 Down — 8 ACROsS 2)
. A square number 3)
. The smallest three-digit square number
with all its digits different 3)
1 Across + 6 Down 2)
A multiple of 4 Down 3)
27 Across + 37 AcCross 2)
39 Across + 1 Down ?2)
200 x 12 Across + 27 Down 4)
10 times 2 dozen 3)
A square of a square number 2)
5 X 1 Across +
one-seventh of 12 Across 3)
A half of 8 Across 2)
A cube number 2)

One less than 6 Down 2)

15.
16.
17.
18.
20.
21.
26.
217.
28.
30.
31.
32.
33.

36.

down

A prime number 2)
The sum of the first ten prime
numbers 3)
The number of hours in 39 days 3)
2X2X2X2X2X2X%X2 3)
22 Across + 28 DowN 3)
The number of minutes in three-fifths of
an hour 2)
A multiple of 7 2)
. 3% 37 Across 2)
. (22 Across — 6 DownN) X 9 “4)
. A number all of whose digits are the
same 4)
A prime number 2)
27 Across — 8 Across 2)
A multiple of 9 2)
A prime number 2)
A square number 2)
The square of a square number 2)
3 x 12 Across (2)
Two-thirds of 36 Down 2)
22 Across — 1 Down 3)
1 Across X 26 Down 3)
25 Across + 4 DownN + 5 DownN 3)
17 DowN + 27 Across 3)
The sum of the digits of 1 Down,
17 Across and 17 Down 2)
One and a half times 27 Down 2)
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INTO Y7 — MERSUREMENT. .. N
Converting Units

| What do | need to be abke to do?

| By the. end of this unit you should be able

to:

Recognise metric measures
Convert metric measures
Cakulate with metric measures
Understand Mies and Hilometre
relationships

Recognise Imperial measures and
conversions

| Metric measures

| Lend | addidd
| Length Common units of kngth or dstance are

Miimetres (mm) — "Ml prefix means one thousandth or +
Centimetres (cm) — “Centi’ prefix means one. hundredth or +
I Metres (m)

I Kilometres (km) — “Hio” prefix means a thousand x 1000

Mass (Weight ﬁ
Grams (g)

hlbqams (kg) — "Hilo” prefix means a thousand x 1000

Im!e (m)) - "Ml prefix means one thousandth or <

: Metric cakulations

1000

| teywords

| Length: the distance from one point to another

| Mass: a measure of how much matter is in an object

I Capactty; the amourt an object can contain (hormaly figuics)

| Volume: the amount of 3-dmensional space an object takes up (units of length cubed)

| Convert: to change a value or expression from one valve to another

| Imperial a system of weights and measures originally developed in England

| Metric: a system of measuring that replaced the imperial system to fall in Ine with the rest of Europe
| Proportion: values of two items that increase in the. same ratio

Il o package. weighs 3504 How much wil 7 packages weigh?
Give your answers in kibgrams

| Mies and hiometres

_________________________________ il
_______________________ iIr---—————_——n
| | Metric conversions |
: : Length /—K + 100 = 1000 :
10%(2) I mm cm m km I
Overage et of | %1 -
i A T N |
Iy H/ N I
& I 1000 1000 |
T Overage weight of I I @ /\ k g /—\ I
7 an appke s 100g I | \T‘ I
| | (\%3@ I
I ’*\/ |
| | % 1000 X IOOO |
I Capacity + 1000 |
s ﬂf%ﬂgg% : | m | Ml — thousandth :
g, | — Centi — hundreath
Ly (3 Ko - thousand I
[ /= I
_______________________ l __ _ _ _xilo00 _
e fral et + 1000 Coloutatiors tps -:
natweignt s in grams k e Do al cakulations in the same unt (often |
9 the smaler measurement) |
2450 + 1000 = 24%5g * Read for the units of your answer |
* Dol conversions of units dt the same
‘ 2450 time I
—————— 5 | 30 [ 30 [ 30 [ a0 [ 0 | 30 | 0 * Represent your mage peloriclly where |
possibl. |
_______________________________________________ il
~ symbol represents s |MPefla| measures
Lendgth

| Mies and kiometres are normaly used as measures of distance | dPProximaltely equal 1o’

| have run 6.4 km so
= fa(
| have run 3.8 miles so
far

E H mies = 8 klometres }

Conversion calculations

How many kiometres s 1D mies? 3 C

5 miles = 8 kiometres

Ron and Onnie are running a S-mike race
Who has run the furthest?

[ [ galon = & pints ]

Ron has 12 mies Eft to ron
Onnie has | mie kft to rn
Onnie has run the furthest

5 mies = & kiometres
0625 mie

4 mies = 64 kiometre D x b4

|1
|1
|1
|1
|1
|1
|1
|1
|1
15 mies = 24 kilometres ||
|1
|1
|1
|1
|1
|1
|1
|1

+ 8
~ | kiometre D

fall in Ine with the rest of Europe. We still use an imperial

| 7 In 1965 Britain converted to the metric system for measuremert to
N measurement of miles for dstance and speed on our roads




INTO Y7 — MEASUREMENT ...
Perimeter, Orea and Volume

What do [ need to be able to do?
By the. end of this unit you should be able
to:

*  Display same areds

*  Cdlulate area and perimeter

Find the areai of a paralelogram
Find volume by counting cubes

11" Orea: the size of a surface (D shapes)
Perimeter: the dstance around a 2D shape

I| Perpendcular: two lines that meet at 90°
[ Vertex: a point where two or more-Ine segments meet
I Foce: any of the flat surfaces of a sold object

HES THE HOLY FAMILY

N

I Volume: the amount of 3-dmensional space an object takes up (with liqud this is called capacity)

CATHOLIC HIGH
SCHOOL

|

|

|

|

|

|

| * Findthe area of atriange
|

|

: *  Find the volme of a cuboid I
|

|

Edge: a Ine segment on the boundary joining one vertex to another
I Commutative: you can swap the order around in the calculation and stil achieve. the same. answer

_______________________________________________ 1
I Qrvipec with the <ame aren - W reg ———————— ! Porimptor (—————————) |
| Shapes with the same area 1 Ori [ Rectangle/ Square area = Base x Height ] | Perlmeter [ Length around the outside of the shape ] |
I G the shapes have an area of H | : I | Sem I
: I2cm? — they are. all made up of 1] : | Compound Shapes : | Tem In compound shapes make sure :
2 squares. — T Bem 8 om al the lengths have
: I : Orea of ~— irw;i 30 N : 7em megsurements [
The shapes below also have I | The height of X e | | ] |
: the same area I | shape s Bem . | | |
1T 2x5- 10cm? - I} Perimeter = dem + &m + km + 7em + &m + lem |
| gE A HHH 1 e |l |
- 34em
| 60:mD wocmEl | | | I E— I
5cm
I e I | Totalarea = Orea O+ Orea® = 10+ 20 = 30cr# | I Perimeter: often asks dbout boundaries or walls in questions |
| I ¥ I
—————————————— e o — — — — — — — — — — — — — — — — — — — — — — — — ——— — —— —
V., T - = Iy~ T T T T T T T T T T T T T
| Orea of triandles Right-anded triandes | : Orea of paralelograms :
| Orea can be caculated by countin |
ety The height of a right- 7cm [ — I
| squares | I = L= |
| Often this s an estimaiion with triangles i angled triangle | | | : [ Pardlelogram = Base x Perpendicular hetdrut} |
I it does ot cut a square in hatf 2cm | | i | I
: Perpendculor heights : I 4cm I
| I/ The perpendicular | : :
: A heit ”;?%Ehe bise : | Properties of paralelograms |
10em I« Two sets of paralel Ines |
| Notice the reLanmh\p between the _1 _ 2 | p | |
I <quire e bk Orea = - 25 10x 4 = 20em? I : * Four sides (quadriaterai) :
| | | * lnterior angles = 360° Orea =4 x & = 32em? |
| [Qrm triange = i areq of the square } [ Orea triange = % X base. x perpendcular height } | | ° Opposite angles are equal |
| | | ° D shape I
- —_
N I 1
| Volume (counting cubes) boids Courting cubes :
| Counting the cubes = Héem?
: I Each cube has a given voume. Eg Icm3] i 4 cubes :
| ¢ A There are 28 cubes on the bottom row and two rows :
| O 1 28x 2 =56
us check the units
| of measurement I
| This shape is made up of Vobrme, can be. mm?, 1 |
I 3cubes em?, m?, km? Volme of cuboid = length x width x height I
|
| So the vome is 3cm? I dem Aem |
I L A— ” 7em Volume =4 x 7 x 2 = Heem? |
| Don't forget about cubes you can't [ 1| Propertis of cuboids |
| | cmm Usemtink cubestonotce seThssaSbshoe e 30 due Remember multiplcation is commutative so the I
I_ﬁll that volume can be any o |
: [ Ja] ] shape — it is the number of The volime of this shape is %m?® I g g;gzeg Values can be. mullipled in any order |
cubes that make up the vale [l 12 edges |
' I




INTO Y7 — NUMBER = s
¢ o O L/ sC

What do Irieedto be abe todo? 11 Reywords
By the. end of this unit you should be able I

to: I Ratio: a statement of how two numbers compare
*  Use ratio language I| Enlargement: to change the size of a shape

* Understand ratios and fractions [| Proportion: a statement that links two rations

* Caluiate ratios 1" Part: g section of a whoke

o Use scale factors I
o (Cakulgte scale factors I
e Link ratio and proportion I

Scdle: the comparison of something drawn to its actual size

|

I

I

[

I

I

| = Usethe -symbol for ratio [I' Scake Factor: the muttiple that increases/ decreases a shape in size
I

I

: Order: to place a number in a determined sequence
I

[

_______________________________________________ i
= e e
| Ratio L&I’IQI %2 8 '-p ‘ ' For every 4 cows there are 3 pigs :
| wh

I [ “For every XXX of XXX there are XXX of XXX’ } % ‘ For every 3 pigs there are 4 cows :
- - ___ "'_'_' — L = _ _ _ ________ 1

I
Ratios and fractions For every 3 green counters

O Q O there are 2 yelow counters

ThEI’OItIOngbOI '. g}ﬁ)j ..'

“For every 2 strawberries | have 4 bananas and 6 berries”
Ratio of strawberries, bananas and berries 2 : 4 : 6

| I
| I
| I
| I
| I
| I
| I
: The order of notation follows ' J ® :
| I
| I
| I
| I
| I

The ratio of green to geIlow courters is

-
| I
| |
| I
| I
| 3:2 |
| The fraction of The fraction of I
| green counters is: yelow counters is: :
|
| I
| I
| I
| I
|

the order of the parts
;rh:g ?(;in?ers Th"ere . f Ially) .
E - . [ ] The colon notation s the symbol for ratio
5 ¢ There are H _ » 5 \ “For every. . S
|_ counters overal L |
I RCP fesentln@ a rglio For every 5 boys there are 3 airs”™  1iyg epresents the 5 bous II Pro OftI
| This is the “whoe” - bous and girs together / ’ : The ratio of green to

I o ¥ | | Thﬁo IS the :: QQQ yelow counters is
| 5 3 ok~ I )
ITﬁ \ | | | | | ,|‘ | : | , . tbs;ztﬂz(rwm:l Q Q 3 : 2

- £50
£350-7- £50 Ly - 4x £50 - £200 || ¥ 1

|
|
|
|
|
|
| B | |
I This represents the 5 boys  This represents the 3 grrks This represents the 3 girk II 3 2 |
e - —:::::::::::::::;'I Zaegeen  — arewelow I
: Sharing a whole into a given ratio Il Scale Factors :. :
The two rectangles are similar. I

| James and Lucy share £350 in the ratio 34 | |
P | @ @ 1 '
| Work out how much each person earns | Py | Q Q Q Q Q Q |
: Model the Question James ” \ / " :I :

——
| James Loy D:I:I £350 :I Use corresponding This is an :: O O O O |
I 3:4 HEEE II sides to cacuate a erlargerment of 1 The o of geento (5 - 4 I
: — II scale factor scal factor 15 1 welor counters s |
Lucy | I
: Fird the valve of one part James = 3 x £50 = £150 ” Scake factor can ako  Biager corresponding side :I — = Z aegeen | patio inoreases |
| Whole: £350 —_—— | be cakculated by Smaler corresponding side I| 10 proportionly [
7 parts to share between D]j II II |
(5 oy O 7 «SF 142, | T
= ore part Small corresponding side Big corresponding side — = — ORRION | roming the same

| I
| |



INTO Y7 — GEOMETRY ... Ty, e
Properties of shape

[————————————— T ———— — — — — — — — — —
I W ? N

| hat do | negd tg be. abke to do | Heuwords

| By the. end of this unit you should be able I

Protractor: mathematical equipment used to measure angles

I
|
I
|+ Messure with o protractor I Ondle: the. amount of tum between two lines around their common poirt I
| * Classfy and caculate angles || Odacert: bng rext o each other :
| * Hrow and cabulte andes in a triange 1] Sum: addion |
| = Hnow properties of angkes in special [| Quadriateral: a four-sided polygon I
| quadiaterals 11 Polygon: an enclosed 2D shape made. up of straight Ines
| ’ |
: * fnow properties of anges in requiar I: Scalere triangke: a triangle with all dfferent sides and dfferent angles I
I poljgons I Reglar Polygon: a polygon with equal angles and all sides the same size |
I * Draw shapes and nets of 3D shapes I |
_______________________________________________ J
r—— == — == o T T o === P S 7 v 1
| Measy S : : Measure angles to [80° | resdfomoe | | : Draw angles up to 180° |
| ! N on the base | |
Right Ongles | | e ‘ | Moke a mark at. 35° with a percl
; Ocute Onges . w ne
: ‘.\‘\ WO" a0 : : Remerrtnbertto : : Sﬁ ))om tothe an@[/e point. (use a :
| \ | . use estimation | AT e I
This is on L6 Toin M\ L
A | o ageo | || % Nl |
y 90°< ang, <180° R@N ange I I luse ande I & 243
I 7 ’ notation | | between 90 © | | e"j 7= \ |
| I and 180 °© |I fos 2 = |
| §{ Reflex Stroight Line |
|/ N 180 ange <360° 180° L Make sure the cross I Moke sure the cross s at the end The ange I
| VAN B || The base ne folons is at the port the | | of the Ine. (where you want the |
Lo __ e bovesweel _ _glew  _ ____ _______ J
P T P E
 Ongles as meagures of tun e 11 Calcuiating missing andles

E || (Qdjacent andes that share g common point ¢ The sum of angles around a pont s 360° Vertically opposite. andes are equal
Il on ai lne add up to 180°

I

I

S I
: &e e quarter tun SW SE | e I
| R clockwise S I| 7 [y 420 L |
I Clockwise Onti-Clockwise | : |
I

| Il | 180 \ \ 360 \ |
| I L2 [y T E=1 o [Ta .| Opposte angles made from |
| |
I I

East to South is a

o+ - +A0 + I ¢ = traight | i
QuaterTum  HafTum  Three-guaterTom  FulTum | 7Aryraa- 180 2300 ] 260 o ‘ZZSU;?:ZC roue
a0 150° 2700 360° || 180-72-42-y 360-%0-%-35-c
Clockwise Onti-Clockwise I 66-y ¢- 155 |
I'______::::::::::'IF::__— ____________ mr———— === ===—=—
| Triangles 1| Quadviaterals Ilm (rumber of sides — 2) x 180 :
I c Oll nterior anges in a triangle I | O nterior anges in a 1 ?ﬁ:n;; “1’; f;cmd e |
I \€> odd up to 180° [ Q % quadriateral add up to 360° [l 9 |
| [ J [ Pobeon
| Ksoscekes Trianales Equlateral Trianales 1 {f\,i Rnombus Kite 11 :
| L} Ol sides equal size No parle! ines |
Tro sdes the same length O sices the same \en@thl I 5 /’ Opposite andes are equal . Equal kngths on top sides I I
I Base angles the same size Ol angges the same size [ | FAaEng b [ Remember this
| 9 l . Equdl lengths on bottom || of the |
I |~ Trapezim F j s I n'tge?oro anges I
Look for combinations of angle rues in triangles s / One par of equal andles This is an irreguiar polygon e ong |
I Dash notation indcates equal lenath sides ‘ | | £ Ore par of paralel nes I e sdes and anges are gded together |
| Il |_ __ _dfferentsizes 1
———————————————— r-—-————— - ——————————— — — = — =
I

| | 3D shapes and nets Triangular Prism [ Square. based pyrarnid }
! o) 2

| I Cuboid | Olemde" ' Vertex: a point where two or more-ine. segments meet
| | - Face: any of the flat surfaces of a sold object
| | r Edge: a Ine segment on the boundary Joining one vertex
e to another
I ! - ! (

|
|
|
VAV |
|
|
|
|




INTO Y7 = STATISTICS ... 5, v
Satistics

What do Irieedto be abe todo? 11 Reywords
By the. end of this unit you should be able I

Protractor: equipment used to measure and draw angles

|
I
|
' |
I
| o I Trend a i h showing th | drection the points seem to fol |
| Read and |nterpret ine. gmphs | ren_ -GINE ON G grapn SnowiNg tne. generdl direction the ponts seem Lo Toliow |
|+ Draw e grapts || X-xis: the horizontal axs |
| » Crcks [| Y-axs: the vertical axis :
| * Read ond interpret pie charts I Mean: the average of al the numbers |
|« Drow pie charts I Circumference. the perimeter of a circle. The line. around the outside |
: * The mean : Diameter: a straignt Ine that goes through the centre of a circle The longest ne in a circle. |
Radius: ai straight Ine from the centre to the radus. (Half the length of the digmeter) I
| I ? I
L __ . _ o __ 1
- T T T T T T T T T re T T T T T T T T 1
: Line araphs 0 method to observe trends in datai over time and make comparisors : | Drawing line. araphs Height of a rocket |
between groups of data I 28| | I
: ) Daily Water Consumption o k@g !deﬁtl{leg th@ : I gg I
500 P data set each Ine | | 70 ° |
| 8 w0 — Tuesday represents | 60
| = 1000 —| * I I 50 @ I
£ s0—| — i T Make comparisons between the 40 |
| = | .
| £ soo—t . + T * data and then relate this | 30 peg |
| = T information back to the context of | I e |
I 0 I 1 I l I the data | I Join each pont with a e |
| feooa.m 1100am. 100pm. 300pm. 500pm 700pm |: straight ne 020 30 40 50 60 70 Tme fseconds) |
Tima “On Tuesday, more. water was consumed at *  Have reqular intervaks on both ‘ ‘
I Spm this could have been a period of I | axes Time 1 beled dcross the x axs :
| ‘ The axes are labeled and show a clar timescae ‘ exercise” : I |
L ————————————————————————— T — — — — — — — — — — — — — — — — — — — —
rFr T _ _____________________________ I
| Circles Il Read and interpret pie charts |
| Crour | | [Th\g bar model represents the information in the bar chart]
I et reumierence (! Olays read the Copingham Primary School has 600 students 500 I
gta for the :
e | [ datafor th , . :
| | total amourt the
| N\ — :I b . [Blele]e]n[n]r]s] |
%—! — I
3 or
: I : I represents mc Waking Tran represents a |
| The diameter s | o represents haif of quater of ths |
I twice the Radius I Th 3600 this datai data I
ere are na
length °f the I I There are 8 equal sectors |
I radus I |_ ek in this pie chart |
o e
- . . . - T I - - S T T T T T T T T T T T T T T T T
Ple Chafts Wlth pefcenms [The whoke.pie chart represents 100 /} Drow pie Chafts There were 60 peopl asked in this survey
[ Typeoipet | Dog | Ca | Hamser | / (Total frequency)
This survey asked 160 people [Frequeny | 32 | 25 | 3 |

L -1 -1
o/-% s0s-1 ass-g

| |
l |
l |
| Mg method I
| *32 out of 60 peopke had a dog’ Os 60 goes into 360 — 6 times |

I Strawberry 30/ = % I : :
l |
| |
l |
I

I
I
I
I
| Each frequency can be muttipled by 6 to find
I
I
I
I
I

Favourite Ice Cream Flavours

T the degrees (proportion of 360)
This fraction of the 360 degrees ‘;-' T )

160 + 10 - 6 €— Thss [0/ moke represents doss powo
other calcultions ~/
lox3-48 from the vabe 34y 360 - 1a2° o Use a protractor o da
60 This 5 192°

______________________________________________ I
r---———"T"7T—"—™"—"™>""+""™>""=>Y+/7""=>"/—""7"" =77/ " " 77777 == - |
| The mean  Mean — a measure of averdge 1t gves an ideai of the centrl valve |
: Freing o mean Lil Onnie Ezra The mean number ofhbbcks would be 8 :
| Lily Ornie and Ezra have the folowing cubes | i siera % I
| Ly CCCTIITTIITITT amount each person The information is redstributed equaly |
: g”;? m[l]:l]] would have if shared across all groups |
| out equaly |
I
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